

$$P^{(n+1)}(x) = \frac{(-1)^{n+1} (n+1)! x^n}{x^n \cdot x^{n+2}}$$

$$= \frac{(-1)^{n+1} (n+1)!}{x^{n+2}}$$

العلامة محفوظة من أجل $n+1$
مباشرة.

$$g'(x) = \frac{1}{x} - P^{(n)}(x)$$

$$P^{(n)}(x) = g'(x)$$

$$P^{(n)}(x) = \frac{(-1)^n \cdot n!}{x^{n+1}}$$

$$P^{(n-1)}(x) = \frac{(-1)^{n-1} \cdot (n-1)!}{x^n}$$

نلاحظ $n=1$

$$P^{(1)}(x) = \frac{(-1) \cdot 1!}{x^{1+1}} = \frac{-1}{x^2}$$

نتحقق (نلاحظ) $P^{(1)}(x)$

$$P^{(1)}(x) = \frac{-1}{x^2}$$

العلامة محفوظة من أجل $n=1$

$$P^{(n)}(x) = \frac{(-1)^n \cdot n!}{x^{n+1}}$$

$$P^{(n+1)}(x) = \frac{(-1)^{n+1} (n+1)!}{x^{n+2}}$$

النتائج: لنتائج $P^{(n)}$
نتحقق بفرض

$$\left(\frac{d}{dx} \right) \left(\frac{(-1)^n \cdot n!}{x^{n+1}} \right) = \frac{0 - (n+1) \cdot (-1)^n \cdot n!}{(x^{n+1})^2}$$

$$P^{(n+1)}(x) = \frac{(-1)^{n+1} (n+1)! x^n}{x^{2n+2}}$$

$$P^{(0)}(x) = \frac{1}{x}$$

العلامة محفوظة من أجل $n=1$

$$P^{(1)}(x) = \frac{(-1)^1 \cdot 1!}{x^{1+1}}$$

العلامة محفوظة من أجل $n=1$

النتائج: لنتائج $P^{(n)}$
نتحقق بفرض

$$P^{(n)}(x) = \frac{(-1)^n \cdot n!}{x^{n+1}}$$

$$P^{(1)}(x) = \frac{-1}{x^2}$$

$$P^{(0)}(x) = \frac{1}{x}$$

$$y' - 1 = -1(x-1)$$

$$y = -x + 2$$

$$P^{(n)}(x) = \frac{(-1)^n \cdot n!}{x^{n+1}}$$